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2 5,085,000 5,077,000 8,000
X 3,416,000 3,416,000 0
= 358,000 358,000 0
2 16,042,545 16,038, 161 4,384
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= 5,029,000 5,021,000 8,000
2 12,443,870 12,443,870 0
St=HMelAld 29 2,635,622 2,627,622 8,000
2 8,000 0 8,000
= 2,627,622 2,627,622 0
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2 8,000 0 8,000
206 T 2 bl 8,000 0 8,000
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2 8,000 0 8,000
HeES (HSS AL L) 75,234 70,850 4,384
2 35,000 35,000 0
2 40,234 35,850 4,384
TES 39,434 35,050 4,384
TES P 39,434 35,050 4,384
701 JIEHEI NS TS 39,434 35,050 4,384
IBIEEEEEE] 39,434 35,050 4,384
o MAZAYSHIN B2

AT 39,434,002 39,434 35,050 4,384
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